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int _ cdecl main{int argc, const char =xargu, const char ==enup)
1
if ( argec == 2 )}
i
memset{byte_418AA8, -1, B21E4u);
sub_4616B8();
sub_48106868();
if ( sub_481158{argu[1]) )

{
sub_481298( (void =)argu[1]);
return B8;
¥
printf("play again?");
¥
return B8;
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14| int v12; // [esp+4h] [ebp-4h]

15

16| w1 = al;

17| 4if ( strlen{al) & 1 )

18 return 8;

19| w3 = =al;

28| wvh = @;

21 us = @;

22| whH = B;

23| wi = -1;

24| w12 = B;

25 if ( t=al )

26 goto LABEL_21;

27| w8 = 8;

28 do |

29 {

an if ( v3 € 97 || »3 > 188 )

31 goto LABEL_17;

32 ug = ui[1] - ‘e*;

33 if ( v? > B8x15 )

34 {

ac yi = al;

36|LABEL_17:

a7 ++yli;

38 goto LABEL_18;

39 ¥

La i@ = u¥;

1 switch ( v3 )

u2 {

43 case 'a':

Ly uy = B8;

uo uh = (signed int){us - v9) % 22;
Lb uf = byte B1BAAB[22 =+ uS + uh];
L7 break;

L8 case 'b':

1] uy = B8;

ca uh = (signed int){ud + ud) % 22;
51 goto LABEL_14;

52 case 'c':

59 v = ui1 3 22;
GOLABEL_14:

61 ud = byte Y1DAAB[22 * uSs + ui];
62 break;

63 default:

[il]} break;

65 ¥

i1} byte 41BAAB[22 = uv5 + ud] = B;
[i¥i vl = 12 + (ud T 1) + (v1B == u7);
[it] 1 = ai;

G62LABEL_18:

7@ vd = vi[2];

71 i += 2;

Fis ui2 = uh;

73 al = vi;

ul 3}

75| while { v3 });

76 i1f { uS *= 21 || vd *= 21 )
77LABEL_21:

78 ++yuly;

79 result = vl { B;

88| LOBYTE(result) = ul {= 8;

81

an

BETT, RENZER-AERE, MO, 0EF21, 21, —kABELTEAE, MAX—REELGET, T

return result;
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find( , ,v7):
v7:

i in range( ):

t=( +i)
(b[ +t]):
b[ +t]=

(t<=29):
)+ -t), (L, )

)+t_ ),(t, )
i in range(
t=( +i)
(b[t
b[t

)+ -t),( :t)

)+t_ ),( )t)

b[ + 1=
ans=[]

v=True
i in range('7):
v)
r=find( , ,Vv)
V= v
tmp=r[~]
(tmp[©]=="e"):

(r)
s =r(l]
ans.append(tmp)
ans. @)
ans[ ' ]=

(. (ans))
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